
399

Inject / eject mechanisms provide hardware necessary for the  
insertion and extraction of PC boards, modules and faceplates. In 
addition, they provide microswitch activation for hot swap. 

The PICMG (PCI Industrial Computer Manufacturer´s Group)  
organization has developed several standards for commercial-off-the-
shelf solutions including, ATCA, AMC, µTCA and cPCI to regulate the 
format and interconnection of telecommunication server equipment.

Southco of fers many inject / eject mechanisms that are  
PICMG-compliant.

Out technical design team has also developed custom solutions for 
many of the top global OEM's. If one of these standard solutions does 
not meet your needs, a custom solution can.

Inject / Eject device designs are largely driven by customer needs in 
the following areas:

Hot swap capabilityÂÂ
Greater pin tensionÂÂ
More weight on PC boardÂÂ
Ever-increasing demands for smaller profiles and less 		 ÂÂ

	 protrusion on boards and faceplates
Higher pin density interconnectsÂÂ
Higher insertion / extraction forcesÂÂ
Secondary locking devicesÂÂ
Proper grounding and alignmentÂÂ

Industry Standard Ejectors
Page 402 - 143

P7

CN CN CN P7

P7 P7P7

Inject / Eject Solutions
Page 414 - 415

INJECT / EJECT

P7



400

Dimensions in millimeters (inch) unless otherwise stated

401

Dimensions in millimeters (inch) unless otherwise stated

Use this selection  
guide to choose the right 
inject / eject mechanism 
for your application

MATERIAL

Product  
Class

Plated Steel and 
Plastic

Die-Cast Zinc
Die-Cast Zinc 
and Plastic

Plastic

AT
CA

PA
GE

S 
40

2 
- 4

07
P7-A-513-11 ✔

P7-A-523-11 ✔

P7-A-533-11 ✔

P7-A-543-11 ✔

AM
C

PA
GE

S 
 4

10
 - 

41
3

P7-M-811-000 ✔

P7-M-812-000 ✔  

P7-M-813-000 ✔

P7-M-822-000 ✔

P7-M-823-000 ✔

cP
CI

PA
GE

S 
40

8 
- 4

09 P7-1-981-10 ✔

P7-1-991-10 ✔

OT
HE

R
PA

GE
S 

41
4 

- 4
15

CN-10-3-A ✔

CN-10-9-A ✔

CN-11 ✔

P7-99-103-53 ✔

P7-1-30X-X5 ✔

PERFORMANCE ENVELOPE SIZE
Max. 

Insertion 
Load per 
Ejector

250 Cycles 
Minimum

VO 
Flammability 

Rating

Secondary 
Catch

Activates 
Microswitch

Compliant 
with PICMG 
Standard

Outside of Faceplate
(L x W x H)

Inside of Faceplate
(L x W x H)

320 N 
(72 lbf) ✔ ✔ ✔ ✔ ✔

58.20 x 4.80 x 17.50

(2.29 x 0.19 x 0.69)

39.92 x 2.50 x 13.00

(1.57 x 0.10 x 0.51)

320 N 
(72 lbf) ✔ ✔ ✔ ✔ ✔

58.20 x 4.80 x 17.50

(2.29 x 0.19 x 0.69)

39.92 x 2.50 x 13.00

(1.57 x 0.10 x 0.51)

320 N 
(72 lbf) ✔ ✔ ✔ ✔ ✔

58.20 x 4.80 x 17.50

(2.29 x 0.19 x 0.69)

38.62 x 2.50 x 13.00

(1.52 x 0.10 x 0.51)

320 N 
(72 lbf) ✔ ✔ ✔ ✔ ✔

58.20 x 4.80 x 17.50

(2.29 x 0.19 x 0.69)

38.62 x 2.50 x 13.00

(1.52 x 0.10 x 0.51)

N/A ✔ ✔ ✔ ✔ ✔
19.55 x 5.65 x 8.86

(0.77 x 0.22 x 0.35)

33.85 x 5.65 x 12.50

(1.33 x 0.22 x 0.49)

N/A ✔ ✔ ✔ ✔ ✔
19.55 x 5.65 x 8.86

(0.77 x 0.22 x 0.35)

33.85 x 5.65 x 12.50

(1.33 x 0.22 x 0.49)

N/A ✔ ✔ ✔ ✔ ✔
19.55 x 5.65 x 8.86

(0.77 x 0.22 x 0.35)

33.85 x 5.65 x 12.50

(1.33 x 0.22 x 0.49)

N/A ✔ ✔ ✔ ✔ ✔
5.05 x 5.65 x 14.50

(0.20 x 0.22 x 0.57)

39.70 x 6.18 x 17.55

(1.56 x 0.24 x 0.69)

N/A ✔ ✔ ✔ ✔ ✔
5.05 x 5.65 x 14.50

(0.20 x 0.22 x 0.57)

39.70 x 6.18 x 17.55

(1.56 x 0.24 x 0.69)

117 N 
(26 lbf) ✔ ✔ ✔ ✔ ✔

36.00 x 25.00 x 19.90
(1.42 x 0.98 x 0.78)

25.25 x 25.00 x 19.90
(0.99 x 0.98 x 0.78)

117 N 
(26 lbf) ✔ ✔ ✔ ✔ ✔

25.00 x 19.90 x 36.00
(0.98 x 0.78 x 1.42)

25.25 x 25.00 x 19.90
(0.99 x 0.98 x 0.78)

220 N  
(50 lbf) ✔ ✔ ✔ ✔

62 x 18 x 18
(2.44 x .71 x .71)

14 x 10 x 18
(.55 x .39 x .71)

110 N 
(24.7 lbf) ✔ ✔ ✔ ✔

62 x 18 x 18
(2.44 x .71 x .71)

Flush

200 N 
(45 lbf) ✔ ✔ ✔

35 x 15 x 30
(1.38 x .59 x 1.18)

19 x 5 x 15
(.75 x .20 x .59)

400 N 
(90 lbf) ✔ ✔ ✔

52 x 23 x 3
(2.05 x .91 x .12) 

52 x 23 x 21
(2.05 x .91 x .83)

325 N  
(72 lbf) ✔ ✔ ✔

54 x 17 x 22.5
(2.13 x .67 x .89)

15.5 x 10.35 x 7
(.61 x .41 x .28)

www.southco.com

Inject / Eject Mechanism
Selection guide



402

Dimensions in millimeters (inch) unless otherwise stated

403

Dimensions in millimeters (inch) unless otherwise stated

ACTUAL
SIZE

Lever Style Switch Operation

Plunger Style Switch Operation

www.southco.com/P7 www.southco.com/P7/ATCA

* For information on new ATCA compliant screw with ± 0.5 (.02) float go to www.southco.com/P7/ATCA

P7 ATCA Inject / Eject Mechanism
Ejectors

Ergonomic inject / eject 	•	
	 lever designed for easy 	
	 operation

Secondary catch on 		 •	
	 inject / eject operates 	
	 microswitch to 		
	 permit hot-swapping 

Material and Finish
Steel plated and glass-filled nylon, 
black 
Washers: Stainless steel

Performance Details
Flammability rating: UL94-V0

Installation Notes
See page 405

Notes
Custom colors available, please 
contact Southco

P7 ATCA Inject / Eject Mechanism
Captive screws

Press-In

Ø 5.5 (.217)

Ø 6.3 (.250)

Knob

Ferrule

Thread size M3

Flare-In

Ø 4.6 (.181)

1 (.039)

6.2 (.245)

P-1

F*

H-1
H-2

P-2

000 
Black  

008 
Blue

012 
Purple

013 
Red

014 
Green

Your color 
(contact 
 Southco)

Flare-In

Ø 4.6 (.181)

Ø 10.6
(.42)

1.0 (.039)

Press-In

Ø 10.6
(.42)

Ferrule

Knob

Thread
size M3 Ø 5.5 (.217)

H-1
H-2

P-2

Fastened

P-1 (projection)

Unfastened

H-1

P-1 (fully retracted)

A Min.

A Max.

Unfastened

E 

2.5
(.10)

4.8
(.19)

Ø 4.2
(.165)

Lever

Catch

Compression
spring
internal

2
(.08)

47.5 (1.87)

B
C

6.1
(.24)

A

D

Black 
handle

2.5
(.10)

4.8
(.19)

Ø 4.2
(.165)

Lever

Catch

Compression
spring
internal

2
(.08)

47.5 (1.87)

6.1
(.24)

A

D

B
E

C

Black 
handle

2.5
(.10)

4.8
(.19)

Ø 4.2
(.165)

Lever

Catch

Compression
spring
internal

2
(.08)

47.5 (1.87)

6.1
(.24)

4.6 (.18)

Black 
handle

A

D

B
E

C

2.5
(.10)

4.8
(.19)

Ø 4.2
(.165)

Lever

Catch

Compression
spring
internal

2
(.08)

47.5 (1.87)

6.1
(.24)

4.6 (.18)

Black 
handle

A

D

B
E

C

M3 thread•	
No. 2 Phillips recess•	
Color match available•	

Material and Finish
Screw and ferrule steel plated knob 
aluminum or PC/ABS

Performance Details
Flammability rating: UL94-V0

Installation Notes
Please refer to installation drawings 
on page 405 for reference on 
dimensions B*, Ø D* and Ø Z*

Notes
New ATCA R3.0 compliant screw, 
see  
www.southco.com for latest details

F* indicates maximum float in the 
unfastened position

47 Series

4C Series

Series
Installation 

Method
Panel Thickness Part Number

P-1 P-2 H-1 H-2 F*
Panel Preparation

A Min. A Max. B* No. 2 Phillips Ø D* Ø Z*

4C

Press-in 0.9 
(.036)

~ ~
4C-PH-M3-1P0-K000 0.8(.03) 3.8(.15) 11.5 

(.45)
8.5 

(.33)
0.7 

(.028)
5.6±0.04 

(.219         ) 
   3.2 
(.219         ) 4C-PH-M3-2P0-K000 2.5(.10) 5.5(.22)

Flare-in 0.8 
(.031)

1.5 
(.060)

0.4 
(.016)

4C-PH-M3-1F1-K000 0.8(.03) 3.7(.15) 11.5 
(.45)

8.6 
(.34)

0.7 
(.028)

   4.8 
(.187         ) 

   3.0 
(.118         ) 4C-PH-M3-2F1-K000 2.5(.10) 5.4(.21)

47

Press-in 0.9 
(.036)

~ ~
47-99-828-1P0 0.8(.03) 3.8(.15) 11.2 

(.44)
8.5 

(.33)
0.7 

(.028)
5.6±0.04 

(.219         ) 
   3.2 
(.219         ) 47-99-828-2P0 2.5(.10) 5.5(.22)

Flare-in 0.8 
(.031)

1.5 
(.060)

0.4 
(.016)

47-99-829-1F1 0.8(.03) 3.7(.15) 11.5 
(.45)

8.6 
(.34)

0.7 
(.028)

   4.8 
(.187         ) 

   3.0 
(.118         ) 47-99-829-2F1 2.5(.10) 5.6(.22)

+.003 
- .000

+.008 
- .004

+0.2 
- 0.1

+.008 
- .004

+0.2 
- 0.1

+0.08 
- 0.05
+.005 
- .000

+.003 
- .000

+.008 
- .004

+0.2 
- 0.1

+.008 
- .004

+0.2 
- 0.1

+0.08 
- 0.05
+.005 
- .000

Part Number
See table

ACTUAL SIZE

ACTUAL SIZE

Lever Style Switch
Panel thickness 0.8 - 1.5 (.031 - .059)

Plunger Style Switch
Panel thickness 0.8 - 1.5 (.031 - .059)

Panel thickness 2 - 2.5 (.078 - .098)

Panel thickness 2 - 2.5 (.078 - .098)

Style Panel Thickness Part Number A B C D E

Lever style complete 
with u-bent washer

0.8 - 1.5 (.031 - .059) P7-A-513-11 25.2 (.99) 26.1 (1.03) 20.8 (.82) 5.4 (.21) 1.9 (.07)

2 - 2.5 (.078 - .098) P7-A-523-11 26.2 (1.03) 26.1 (1.03) 20.8 (.82) 5.4 (.21) 2.9 (.11)

Plunger style 
complete with 

belleville washer

0.8 - 1.5 (.031 - .059) P7-A-533-11 25.2 (.99) 23 (.90) 19 (.75) 9.6 (.38) 1.9 (.07)

2 - 2.5 (.078 - .098) P7-A-543-11 25.2 (.99) 23 (.90) 19 (.75) 9.6 (.38) 2.9 (.11)

Ø 4.4
(.17)

Ø 8.2
(.32)

1.6
(.063)

Ø 4.2
(.17)

Ø 6
(.24)

0.45
(.018)

U-Bent Washer (supplied) Belleville Washer (supplied)



404

Dimensions in millimeters (inch) unless otherwise stated

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

405

Dimensions in millimeters (inch) unless otherwise statedwww.southco.com/P7 www.southco.com/P7

www.southco.com/P7

P7 ATCA Inject / Eject Mechanism
Guide pin

P7 ATCA
Mounting screws M 2.5

P7 ATCA Inject / Eject Mechanism
Faceplate panel preparation (with PCB mounting tab fabrication)

Ø 5.2 
(.20)

16
(.63)

2 (.08)

0.5 (.02)

Ø 3
(.12)

Ø 6.1 (0.24) 

Ø 4.2
(.165)

3.8
(.15)

2.5
(.10)

6
(.24)

No. 1 Phillips

M 2.5
Thread

Vibration 
resistant patch

Bullet tip for better 		 •	
	 engagement

Self-clinching style for 	•	
	 easy installation

Material and Finish
Stainless steel

Installation Notes
Edge of hole must be sharp do not 
chamfer. 
See page 405 for reference on 
usage of guide pin.

Self-clinching install details see 
page 497

Accommodates all  •	
	 standard ATCA PC board  
	 thicknesses

Vibration-resistant  •	
	 nylon patch

Material and Finish
Steel zinc plated

Installation Notes
Please refer to installation drawings 
on page 405 for reference on usage 
of mounting screws

3.2 
(.126)

   4.1
(.161       )

+0
-0.1

See captive screw
panel preparation

Ø 3.5
(.135       )
Guide pin

+ 0.08
 - 0

 +.003
   0

4.1         
(.161        )

+0 
- 0.1
+0
-0.004

Ø 4.19
(.165        )
PCB standoff

+0 
- 0.13

+0
-0.005

+0
-0.004

Frame rail

Faceplate

PCB mounting
centerline

2.18
(.086)

6.1
(.24)

6.82
(.269)

G

7.02±0.1
(.276±.004)

12.575 ±0.13
(.495±.005)

20.17±0.25
(.794±.01)

T

F

A

Chamfer edge

C

E

Ø 4.2
(.17)

PCB or 
faceplate
mounting
location for
microswitch*

Panel thickness
*0.9 (.036) Min

Ø D Do not chamfer 
edge

Smooth face punch
(diameter greater
than knob diameter)

Ø Z

Back-up
tool

(not supplied)

Press-In

Ø D

90˚±2˚�
B±0.1(.005)

A Min. to A Max. 
(see page 403)  

Smooth
back-up
surface

Tool

Panel

102
(4.0)

11.9
(.47)

Flare-In

Installation Notes
Select ejector, guide pin and 
mounting screw part number.
Select captive screw best suited to 
your application.

Notes
Faceplates generally require two 
ejectors, two captive screws, two 
mounting screws and two guide 
pins.

*Microswitch lever style operation 
ITT MD002 or plunger style 
operation ITT SD002

See page 403 for ejector selection

Installation Notes
See page 403 for B, Ø D and Ø Z 
dimensions.

Press-in: 
1.	 Prepare panel as shown, do not 	
	 chamfer edge. 

2.	 Place standoff into installation 	
	 hole.

3.	 Provide solid back-up behind  
	 hole with clearance hole for  
	 screw.

4.	 Press part into panel. Punch 	
	 must not touch plastic knob 		
	 during installation.

Recommended minimum distance 
from the panel edge to the 
centerline of the installation hole is 
1.5 x Ø D. * For panels thinner than 
0.9 (.036) contact Southco. 

Flare-in 
1. Prepare panel as shown. 

2. Use light pressure to flare 
	 standoff, assuring parallel 
	 surfaces on the punch and 		
	 installation tool. Installation 	
	 force depends on screw size.

3. Punch cannot touch plastic 		
	 during installation.

ACTUAL SIZE

ACTUAL SIZE

Switch Styles Part Number A F C G E T

Lever
P7-A-513-11 22 (.866) 7.5 (.296)

4 (.16) 25.4 (1.0) 5.2 (.2)
0.8 - 1.5 (.031 - .059)

P7-A-523-11 21.7 (.85) 7.8 (.31) 2 - 2.5 (.078 - .098)

Plunger
P7-A-533-11

20.2 (.795) 9 (.354) 3 (.12) 20.4 (.8) 1.9 (.07)
0.8 - 1.5 (.031 - .059)

P7-A-543-11 2 - 2.5 (.078 - .098)

Captive Screw Panel Preparation and Installation (see page 403 for selection of captive screws)

Part Number

77-0-40552

Part Number

P7-0-41665-1

Flare-In Tool Part Number (M3 Thread Size)

47-104

Ø 3.5
(.135       )

+ 0.08
 - 0

 +.003
   0

4.08
(.161)

25.4
(1.0)

PCP or 
faceplate
mounting
location for
microswitch
ITT MDS002
or equivalent

6.1
(.24)

8 (.31)
Min.

PCB mounting
centerline

4 (.157)



406

Dimensions in millimeters (inch) unless otherwise stated

407

Dimensions in millimeters (inch) unless otherwise stated

CN-68 ACTUAL SIZE CN-78 ACTUAL SIZE

CN-81-4 ACTUAL SIZE

6.5 (.256)

4 (.157)

10
(.394)

4 (.157)

Pin 2
Ø 3 
(.118)

Pin 1
Ø 3 

(.118)

2
(.078)

14.5 (.57)

B

7 (.275)

Ø 1.4 (.055)

Ø 2.5 (.099)2.5 (.099)

9±0.05
(.35±.002)

6.5±0.05
 (.256±.002)

2.5±0.05 
(.098±.002) 10.5 

(.413)

4 (.157)

2±0.05 
(.078±.002)

M2.5 x 0.45-6H thread 5mm deep

6.5 
(.256)

4 (.157)

10 (.394)

4 
(.157)

Receptacle 1
Ø 3.4 (.134)

Receptacle 2
Ø 3.4 (.134)

2 (.078)

14.5 (.571)

3±0.05 
(.118±.002)

22 (.866)

12±0.05 
(.472±.002)

8
 (.314)

5±0.05 
(.197±.002)

Ø 1.4 (.055)

M2.5 x 0.45-6H 
thread x 6mm deep

Ø 1.7 
(.067)2.5 (.098)

X  Receptacle 1 Position  
Y  Receptacle 2 Position

Rotation
Receptacle  

Position

1 0˚

2 45˚

3 90˚

4 135˚

5 180˚

6 225˚

7 270˚

8 315˚

0 N/A

B 	Pin length
68	 A1 backplane 22.5 (.885)
78	 A2 midplane 29.5 (1.16)

Pin 2
Ø 3 
(.118)

Pin 1
Ø 3 (.118)

Coiled pin
4 (.157)

6.5 
(.256)

2±0.05 
(.078±.002)

4 (.157)

10
(.393)

14.5 (.571)

9±0.05
 (.35±.002)

M2.5 x 0.45
6H thread 5mm deep

5±0.05
(.196±.002)

2.5±0.05 
(.098±.002) 22 (.866)

12±0.05
 (.472±.002)

2±0.01
(.078±.0003)

29.5 (1.14)

Ø 3±0.05 (.118±.002)

3±0.05
(.118±.002)

2 x coiled pins 
Ø 1.62 (.064) Max.

Ø 1.5 (.06) Min. 2.4 (.094)

Ø 3±0.05 (.118±.002)

2.5 (.098)

2 x
Ø 1.45 
(.057)

5±0.05 
(.197±.002)

18 ±0.05
 (.709±.005)

2 (.079)
2.5 (.098)

22 (.866)

9±0.05
 (.354±.002)

2 x Ø 3.7
(.146)

4 
(.157)

10 
(.394)4 

(.157)

6.5 
(.256)

14.5 (.571)

2 
(.079)

M2.5 x 0.45
6H thread

6mm deep

CN-80 
ACTUAL SIZE

ACTUAL SIZE

ACTUAL SIZE

4.9
(.193)

30 (.1.18)

Ø 3±0.05
(.118±.002)

3.5
(.138)

5
(.197)

A

B

M2.5 x 0.45-6g 
thread

Ø 5.5
 (.216)

X  Pin 1 Position  
Y  Pin 2 Position

Rotation Keying Position

1 0˚

2 45˚

3 90˚

4 135˚

5 180˚

6 225˚

7 270˚

8 315˚

Single Pin Part Number A B

CN-81-4 4 (.157) 6 (.236)

CN-81-6 6 (.236) 8 (.315)

CN-81-8 8 (.315) 10 (.394)

CN	 -	 B 	 -	 X 	 -	 Y

CN	 -	 80	 -	 X 	 -	 Y

CN	 -	 69	 -	 X 	 -	 Y

www.southco.com/CN

Mates with pins•	

Material and Finish
Die-cast zinc, nickel plate

Notes
Receptacle module rotation position 
must mate with keying module 
rotation position

CN ATCA Inject / Eject Mechanism
Alignment keying modules

CN ATCA Inject / Eject Mechanism
Alignment receptacle modules

CN-80 robust design 		 •	
	 passes the NEBS drop 	
	 test

Multiple pin positions 		•	
	 ensure proper board 		
	 mating

Material and Finish
Dual pin CN68 and CN78: 
Die-cast zinc, nickel plated 

Dual pin CN80: 
Die-cast zinc, hardened steel,  
nickel plated

Single pin: 
Brass, nickel plate

Notes
Keying module rotation position 
must mate with receptacle module 
rotation position

www.southco.com/CN

Single Pin - A1 Backplane

Dual Pin - A1 Backplane - A2 Midplane K1 - K2 Front Board

rK1 Rear Transition Module 

A2 Rear Transition Module

Part Number

CN-79

Dual Pin Part Number

A2 Rear Transition Module 
Part Number



408

Dimensions in millimeters (inch) unless otherwise stated

409

Dimensions in millimeters (inch) unless otherwise stated

Microswitch assembly: 
Attaches to ejector, allows for  
hot swap 
Part number: P7-0-46720 

 
   

M2.5 Retention screw: 
Used with ferrules and ejectors 
Material and finish: Steel plated 
Part number: P7-0-45297 

    

3U Hardware
Captivates M2.5 screw on faceplate 
Snap-in ferrule:  
Faceplate thickness  
1.6 - 2.5 (.063 - .098)  
Material and finish: ABS 
Part number: P7-0-45227 

 

Press-in ferrule:  
Faceplate thickness  
1.5 - 2.4 (.059 - .094) 
Material and finish: Steel, Plated 
Part number: P7-0-45302 

 

Press-in ferrule flush:  
Min. panel thickness 0.9 (.035) 
Material and finish: Steel plated 
Part number: P7-0-45244 

 

PCB Mounting block:  
Used to mount PCB in place  
of ejector 
Material and finish: Zinc plated 
Part number: P7-0-45234 
 
 

Notes
All panel preparation tolerances 
±0.1 (.004)

P7 cPCI Inject / Eject Mechanism
Faceplate mounting hardware accessories

Faceplate Preparation 6U and 9U
4HP 4 x 5.08 (.200)

36 (1.4) Max

> 4HP 4 x 5.08
(.200)

E
DAC

B

Area to be kept clear
for front mounted components

20.02 (.788)

115.4 (4.54)

Ø 5.85 (.230)

3.18 (.125)

45˚ Chamfer
to Ø 5 (.2)

14.85 (.585)

Ø 2.7 (.11)

7.47 (.294)
3.1 (.12)

3U

6.03 (.237)

20.1 (.79)

3.3 (.13)

Ø 2.6 (.1)

13.7 (.54)

8.4 (.33)

9.9
(.39)

Style A B C D E

6U 235.4 (9.27) 255.85 (10.073) 222.25 (8.750) 214.65 (8.451) 262.05 (10.317)

9U 368.75 (14.518) 389.2 (15.323) 355.6 (14.00) 348 (13.701) 395.4 (15.567)

Faceplate 
mounting
screw

M2.5 retention screw

M2.5 retention
screw

PCB Mounting block

M2.5 screw
(not supplied)

M2.5 screw
(not supplied)

M2.5 screw
(not supplied)

Ferrule

Space for label

ACTUAL SIZE

Upper Ejector

C B A

F E D

25.4
(1.0)

6.03  
(.237        )

+0.1
-0
+.004 
-0

5.08 (.2)

19.9
(.78)

M2.5 x 0.45 

5.1 (.20)

2.7±0.1 (.11±.004)

36 (1.4)  Max.

22.75
(.896)

7.6
(.30)

M 2.5 x 0.45

Ø 2
(.08)

Ø 3
(.12)Ø 3

(.12)

16.8 (.66)

8.55
(.337)

8.6 (.34)

2.7±0.1 (.11±.005)

36 (1.4) Max.

Ejector base

Ejector jaw

Ejector cover

Ejector button

M 2.5 x 0.45

16.8 (.66)

8.55
(.337)

Ø 3
(.12)

Ø 2
(.08)

Ø 3
(.12)

7.6
(.3)

22.75
(.896)

5.08
(.2)

19.9
(.78)

25.4
(1.0)

6.03  
(.237        )

+0.1
-0
+.005 
-0

5.1 (.20)

8.6 (.34)
Microswitch location lugs

Lower Ejector (for use with microswitch)

C B A

F E D

25.4
(1.0)

6.03  
(.237        )

+0.1
-0
+.004 
-0

5.08 (.2)

19.9
(.78)

M2.5 x 0.45 

5.1 (.20)

2.7±0.1 (.11±.004)

36 (1.4)  Max.

22.75
(.896)

7.6
(.30)

M 2.5 x 0.45

Ø 2
(.08)

Ø 3
(.12)Ø 3

(.12)

16.8 (.66)

8.55
(.337)

8.6 (.34)

2.7±0.1 (.11±.005)

36 (1.4) Max.

Ejector base

Ejector jaw

Ejector cover

Ejector button

M 2.5 x 0.45

16.8 (.66)

8.55
(.337)

Ø 3
(.12)

Ø 2
(.08)

Ø 3
(.12)

7.6
(.3)

22.75
(.896)

5.08
(.2)

19.9
(.78)

25.4
(1.0)

6.03  
(.237        )

+0.1
-0
+.005 
-0

5.1 (.20)

8.6 (.34)
Microswitch location lugs

8.8 (.35)

35˚

2.5 
(0.1)

Faceplate Travel

Note: 6.3 (0.24) total travel

P7 cPCI Inject / Eject Mechanism
Ejectors

Ergonomic design for  •	
	 easy operation

Button protected to  •	
	 prevent accidental  
	 operation

Button disengages  •	
	 microswitch prior to  
	 rotation of ejector handle

Optional integrated 		 •	
	 microswitch 

Material and Finish
Ejector base and jaws:  
Zinc die-cast, nickel plated 
Ejector cover: PC/ABS black 
Ejector button: PC/ABS red 
Torsion spring: Stainless steel 
Pin and faceplate mounting screws: 
Steel, zinc plated

Performance Details
Flammability rating: UL94-VO

www.southco.com/P7 www.southco.com/P7

Part Number

P7-1-981-10

Part Number

P7-1-991-10



410

Dimensions in millimeters (inch) unless otherwise stated

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

411

Dimensions in millimeters (inch) unless otherwise stated

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

www.southco.com/P7 www.southco.com/P7

P7-M-813 
ACTUAL SIZE

P7-M-822
ACTUAL

SIZE

www.southco.com/P7 www.southco.com/P7

Die-cast construction for 	•	
	 robust  performance

Positive detent at three 	•	
	 distinct positions

Fits all current  •	
	 microswitch locations

Custom colors available•	

Material and Finish
Handle/shaft, housing and catch: 
Die-cast zinc, bright chromate

Notes
*Order light pipes separately

P7 AMC Inject / Eject Mechanism
Pull module handle

P7 AMC Inject / Eject Mechanism
Operation

12.4
(.49)

19.6
(.77)

5.65
(.222)

M2.5

12.38 (.487)
4.66 (.183) 1.48 (.058)

8.35 (.329)

3.4
(.13)

8.9 (.35)
A

Handle/
shaft

Housing

CatchSpring 
cover

Light Pipe for R2.0 Module Handle

7.85 (.309)

1.8 
(.07) Ø 2.8 (.11)

Ø 2.5
 (.10)

0.8 (.03)

3.6 (.14)

3.95 (.156)0.6
(.02)

Part Number Handle 
Size A

Module handle R2.0 Light pipe*

P7-M-811-000 P7-10-812 Compact 3HP 12.50 (.492)

P7-M-812-000 P7-10-812 Mid size 4HP 17.55 (.691)

P7-M-813-000 P7-10-812 Full size 6HP 27.55 (1.085)

A±0.1 (.004)

Ø 1.6 (.063)
for lock pin

2 x 0.65
(.026)

14.6
(.574)

17.7
 (.697)

8.35
 (.329)

3.35 (.132)
5.65 (.222)

M2.5

7.85
 (.309)25.67

 (1.01)

3.56
(.140)

1.6
 (.063)

6.18 (.243)
4.66±0.05

(.183±.002)
1.8±0.04

 (.071±.001)

2.67     
 (.105       )

+0.1
 -0.3

+.004
 -.012

27.7
(1.09)

12
 (.472)

Light pipe

Catch

Button

Housing

Flush button prevents 	•	
	 snagging of handle

Flush button allows for 	•	
	 better aesthetics

Locking pin feature•	

Material and Finish
Handle/shaft: Die-cast zinc, black 
epoxy coat 
Housing, cover and catch: Die-cast 
zinc, bright nickel plate 
Light pipe: Polycarbonate clear

Part Number Handle Size A

P7-M-822 Mid size 4HP 17.55 (.691)

P7-M-823 Full size 6HP 27.55 (1.085)

Operation

Module Latched 
Switch Actuated

Module Latched 
Switch Released

Module Unlatched 
Switch Released

Module PCB
Hot swap
switch

6.45 
(.254)

3.45 
(.136)

0.45 
(.018) Springs 

out

Module PCB
Hot swap
switch

Pull

Flush Flush Flush

Push in 1 (.039)
to release

11 (.43)

3 (.12)

P7 AMC Inject / Eject Mechanism
Flush module handle

Part Number Bracket Size A B

P7-L-811 Compact 12.50 (.492)
2.1 

(.08)
P7-L-812 Mid size 17.55 (.691)

P7-L-813 Full size 27.55 (1.085)

P7-L-811-11 Compact flush 12.50 (.492)
0.3 

(.012)
P7-L-812-11 Mid size flush 17.55 (.691)

P7-L-813-11 Full size flush 27.55 (1.085)

B
A

12
(.47)

4.7
(.19)

11.2 (.44)
M2.5
 (.10)

2.5 
(.10)

5 (.2)

20.5
(.81)

R2.0

P7-L-813
ACTUAL SIZE

P7 AMC Light Pipe Bracket

Easily snaps into 		 •	
	 faceplate

Bracket includes light 	•	
	 pipe and housing

Compatibility with all 		•	
	 standard Advanced MC 	
	 faceplates

Material and Finish
Light pipe housing: Die-cast zinc,  
bright chromate 
Light pipe: Polycarbonate, clear

Notes
For R1.0 light pipe bracket go to  
www.southco.com



412

Dimensions in millimeters (inch) unless otherwise stated

413

Dimensions in millimeters (inch) unless otherwise stated

P7 AMC Inject / Eject Mechanism
Module handle & light pipe bracket panel preparation

P7 AMC Inject / Eject Mechanism
Printed circuit board preparation

12.35 (.486)

0.65 (.026)

Compact 13.88 (.546)
Mid-size 18.96 (.746)
Full-size 28.95 (1.14)

Per AMC.0

1
(.04)

1 
(.04)

1 (.04)

5.3
(.21)

5 (.2)

1 (.04)

1 (.04)

1 (.04)

1
(.04)

5.3 (.21)

5 (.2)
1 (.04)

3.2 (.13)

10.7 (.42)

2 x
Ø 2.6
(.10)

3.2
(.13)

R2.0

20.6 (.81)

15 (.59)

13.6 (.54)

6 (.24)

1 
(.04)

2.4 
(.09)

3.3 
(.13)

5.2
(.20)

Location of LED:
R2.0 (Red) Panasonic 

LNJ208R8ARA
3.3 (.13)6 (.24)

Location of LED:
R2.0 (Green), Kingbright APA3010QYC

Faceplate

Blue LED
light pipe

Handle 
assembly

Light pipe
bracket

assembly

Printed circuit board 
assembly

2 x M2.5 x 6
(R2.0)

(not supplied)

M2.5 x 5 
flush style only

PCB Preparation

Printed Circuit Board Component Side 1 Printed Circuit Board Component Side 2

www.southco.com/P7

Ø 2.7 
(.11)

1.55
(.061)

0

1.65 
(.065)

2.15 
(.085)

3.25
(.128)

1.6 (.06)

0
3.75

(.148)
10.61
(.418)

12.55
(.494)

18.85
(.742)

23.15
(.911)

27.5
(1.08)

Location of 
hot swap switch
(ITT/CANNON HDT 0001)

2.05 
(.081)

23.35
(.919)

37.75
(1.49)

For flush style only
component height
restriction 1.5 mm Max.

2.85 
(.112)

0

03.75
(.148)

8.15
(.321)

Location of 
blue LED

side 2 
(Ref. Kingbright
APA 3010MBC)

2.55 
(.100)

Ø 5.5
(.22)

1 (.04)

1 (.04)

1 (.04)
1 (.04)

5.3
(.21)

5 
(.2)

3.4
(.13)

Ø 2 (.08)
4.35

(.171) 2.15 
(.085)

6.94 (.273)

9.14 (.360)2.9 (.11)

1 (.04)

1 (.04)
1 (.04)
1 (.04)

5.3 (.21)

5 (.2)

12.35 (.486)

0.65 (.026)

Compact 13.88 (.546)
Mid-size 18.96 (.746)
Full-size 28.95 (1.14)

Per AMC.0

8.35 (.329)

5.2 (.20)
2.7(.106)

3 (.118)

R 0.5
(.02)

3.2 (.126)

1.8 (.071)
16.3 (.11)

5.85 
(.23)

2 x RO 0.6 Max

Flush Style

Pull Style

Printed Circuit Board Component Side 1 Printed Circuit Board Component Side 2

Faceplate

Blue LED
light pipe

Handle 
assembly

Light pipe
bracket

assembly

Printed circuit board 
assembly

2 x M2.5 x 6
(R2.0)

(not supplied)

M2.5 x 5 
flush style only

Installation Notes
1. Snap handle assembly and light 	
	 pipe bracket into faceplate.

2. For R2.0, position blue LED light 	
	 pipe into handle assembly and 	
	 faceplate. Light pipe should be 	
	 positioned against outside wall 	
	 of handle assembly.

3. Slide PCB in place and secure 	
	 with screws. Blue LED light pipe 	
	 is located on component side 2 	
	 of the PCB.

Notes
All panel preparation tolerances 
±0.1 (.004)

Panel Preparation Light Pipe Brackets

Panel Preparation Module Handles



414

Dimensions in millimeters (inch) unless otherwise stated

415

Dimensions in millimeters (inch) unless otherwise stated

ACTUAL SIZE

ACTUAL SIZE

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

Other options available. For complete details 
on variety, part numbers, installation and  
	 specification, go to

P7 Inject / Eject Mechanism 
Ejectors

23.3
(.92)

52.8
(2)

17.4 
(.69)

8.1 (.32)

36.8 (1.45)

Open cam
protrusion
3.3 (.13)

Closed cam
protrusion
4.2 (.17)

21.3
(.84)

22 (.87)

Handle

Cam

HousingWire clip

Button

www.southco.com/P7

10 (.394)

2.6 
(.102)

6.5
(.256)

M2. x 0.45 
thread

30.6 (1.2)5.5 (.217)

Indicator 
aligned 

when
 latched

13.9 (.547)
19.3
(.76)4.2 

(.165)

Ø 2.5 (.098)
7.5 (.295)21.5

(.846)

27.4 (1.08)
14.6

(.575) 12 (.472)

35.1
(1.38)

16.6
(.654)

5 (.197)
10 (.394)

ACTUAL
SIZE

CN Inject / Eject Mechanism 
Ejectors

Material and Finish
Module ejector:  
Lever and slide:  
Glass-filled nylon, white 
Base: Die-cast zinc, nickel plated 
Pin and spring: Stainless steel, 
passivated

Blanking panel ejector:  
Lever: Glass-filled nylon, white 
Base: Polycarbonate, white 
Pin: Stainless steel, passivated 

Mini module ejector:  
Lever and catch:  
Polycarbonate, gray 
Base: Die-cast zinc, natural 
Pin: Stainless steel, passivated

Performance Details
Flammability rating: UL94-VO rated 
plastic components

www.southco.com/CN

13.6
(.535)

24
(.944)

22.7
(.893)

4
(.157)

M3
21

(.827)6±0.5
(.236±.02)

61.8
(2.43)

3.5
(.138)

18±0.3
(.708±.012)

18.3 (.72) 17.7 (.696)

3.6 (.142)

7
(.275)

10.7±0.3
(.421±.012)

10±0.1
(.394±.004)

17.63
(.69)9.96

(.39)5.08 (.2)

4.8 (.189)
18 (.708)

61.8
(2.43)

Ø 2.85  
(.112±.004)

+0
- 0.1

2 x Ø 2.32±0.05  
(.091±.002)37.5

(1.48)

35.6
(1.4)

8.2 (.323)

6±0.5
(.236±.02)

18.3
(.72)

11 (.433)3.6 (.142)

3.5
(.138)

ACTUAL
SIZE

ACTUAL
SIZE

53
(2.09)

17  (.67)

54 (2.13)

22.5
(.89)

Min. 0.9 (.035)
Max. 3.2 (.125)

Door

Frame

Clip-on retainer

Cam

No.1 phillips recess 
quarter-turn fastener, 
on tool secured style

11.2
(.44)

23.6
(.93)

Part Number

Panel  
Thickness

Non Tool 
Secured

Tool 
Secured

Secondary 
Catch

0.9 - 1.6  
(.035 - .063)

P7-1-301-15 P7-1-302-15 P7-1-303-15

1.7 - 2.4  
(.067 - .094)

P7-1-301-25 P7-1-302-25 P7-1-303-25

2.5 - 3.2  
(.098 - .125)

P7-1-301-35 P7-1-302-35 P7-1-303-35

Mini Module Ejector

Module Ejector

Blanking Panel Ejector

Ejector Part Number

Module ejector CN-10-3-A

Blanking panel ejector CN-10-9-A

Mini module ejector CN-11

Part Number

P7-99-103-53

Material and Finish
Handle 
Housing, lever: Polyester, black 
Cam: Low carbon steel, zinc plated, 
chromate plus sealer 
Pins: 302 Stainless steel, passivated 
Clip-on retainer: 301 Stainless steel, 
passivated

Flush: 
Housing, button and handle: Die-
cast zinc, black powder coated 
Cam: Steel, black zinc phosphate 
Wire clip, torsion springs and pins: 
Stainless steel, natural

Handle

Flush


